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BRERBLANIF . L ERR 4K
20234 BTt
X5 & B 48 58 68 78 8H 98 108 1118 128 1H 28 38 =
B 222 229 119 199 179 101 254 257 112 186 176 159] 2,192
& H 72 74 33 55 47 26 75 90 31 54 53 32 642
Befg 12 6 6 11 2 2 15 7 8 15 9 5 97
BE7ILAY) 94 87 31 68 84 29 51 56 12 27 29 8 576
BISAFvIEE X1 170 204 90 158 154 79 194 198 86 132 153 104] 1,720
HEYMHERE 127 123 43 89 79 47 91 75 36 67 81 81 938
HYDIIK(REAICIRS) - - - - - - - - - - - - -
&I 3 5 1 1 0 2 3 5 5 9 10 11 53
EXRED $R<F - - 0 0 - - - - - - - - 0
AhEsE X1 - - - - - - - - - - - - -
BT - 0 - - 0 0 - — - - - - 0
LT — - - - - - - - - - - = -
fHiE<g - - - - - - - - - - - - -
HSALTEH X1 4 5 2 10 4 2 5 4 3 2 4 2 46
HYEERETEY 13 15 6 11 9 5 14 18 8 10 11 9 130
MY TB-OIZMBLI-20D (BRAERIZED) 11 20 6 11 14 6 20 20 9 12 12 9 150
BEREY X4 707 143 62 690 767 219 350 181 200] 1,007 1,050 352 5,726
EIDRET: 3 18 25 11 23 22 9 29 27 12 13 14 12 215
& B 14 e 0 0 0 0 0 0 0 0 0 0 0 0 3
BEEEETILAY 0 0 - 0 0 0 0 0 - 0 0 0 0
HRIEE BREMEEY 297 399 159 286 328 163 354 343 166 295 300 186] 3,275
EXREY BEEEREN 0 1 0 0 0 0 0 - - 0 0 0 3
BEHEERE - - 0 0 0 0 - 1 1 0 0 - 3
BEA SRR - - - 0 - - - - - - - - 0
BEEEETILAY 0 0 0 0 0 - 0 - - 0 0 0 0
— Y A[PRC 2014 2400 1,309] 2279] 2241 1,117] 2441 2642] 1210 2,117 1,791] 1,280 22,842
AASH - - - - - - - - - - - - -
&t 3766] 3736] 1,878] 3891] 3930 1,807] 3895] 3923 1,898 3946] 3,691 2250 38,611
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IFWCADBREET-IZA 2B 5 6B 7R 8H 98 108 1A 128 18 2A 3A
1847 B/R 6/12~6/26 9/15~9/29 ‘fg};; 3/2~3/16
AR
2847 A/8 6/12~6/29 9/15~9/29 ‘12/‘ I~ 3/2~3/16
2/25
1847 B/R 6/12~6/26 9/15~9/29 ‘fg};; 3/2~3/16
BEH R IR
2247 A/8 6/12~6/29 9/15~9/29 ‘fg};; 3/2~3/16
(BAZONFHE] _
L& RFRDEY
FHRLU-E/AH 2023458308 | 20234118288
BIEHENFONT-A 2023478138 | 20234125258
BIEEB BAL | KR
1= <0.001 <0.001
. .
FENCA | e/m” e <0.001 <0.001
w 124 62 65
I ZEXREEIEW | ppm Y= 3 P
ELERRE 1E 17 9 7
iE 3
EIEKE [ mg/m py=v= 13 6
124 <0.005 <0.005
MERIEY | K o <0.006 <0.006
124 0.062 0.048
N 3% 5
AAFF ] ng-TEQ/m 254F 0.068 0.016




